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	1. For each of the following compounds, please indicate how many:
a) Chiral Carbons

b) Stereoisomers

c) Enantiomeric pairs

d) Diasteriomeric pairs




	A.  CHOCH(OH)CH(OH)CH2OH 

a) 2

b) 4

c) 2

d) 2

	B.  CHOCH(OH)CH(OH)CH(OH)CH2OH 

	a) 3

b) 8

c) 4

d) 4

	C.  CHOCH(OH)CH(OH)CH(OH)CH(OH)CH2OH
a) 4
b) 16
c) 8
d) 8

	D.  COOHCH(OH)CH(OH)COOH (This one is tricky)

a) 2
b) 3
c) 1
d) 1

Discussion: This is very tricky. There are 2 chiral carbons in this molecule, so there should be 4 stereoisomers. In actuality, there are actually only 3 stereoisomers. There is one pair of enantiomers (OH on opposite sides) known as tartaric acid. There is only one isomer (racemic acid) when the hydroxyl groups are on the same side of the molecule. This is because the mirror image molecules are actually exactly the same. Racemic acid is known as a meso compound.

Therefore there are 3 stereisomers, one pair of enantiomers, and no pairs of diasteriomers, although you could probably say there is anywhere between 1-1.5 pairs of diasteriomers.
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